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2 Write a précis of the following passage in about 100 words
title:

The present-day industrial establishment is a great distance removed
st century or even of twenty-five years ago. This improvement has beel
vanety of forces— government standards and factory inspection: general ¢
amhitectural advance by substituting machine power for heavy or repetitive
e need to compete for a labour force: and union intervention to improve ')
Maddition to wages and Hours.

However, except where the improvement contributed to increasec
%1 1o make more pleasant has had to support a large burden of proof. It
% the elimination of hazardous, unsanitary, unheéaithful, or otherwi
Snditions of work. The speedup might be resisted-to a paint. But the test ¥
#eeable but what was unhealthful or, at a minimum, excessively fatiguing.
"eased leisure is not reprehensible, but we resist vigorously the notion
"% less hard on the job. Here older attitudes are invo!ve.d. We are gravely
tnq to expand less than the maximum eﬂort, for this has lQng b‘?" ,

b v

In strict there is as r;'!uch to be saia for maklhg work pleasan
ﬁ‘hOﬂoniﬂO H‘z?lrbl On the whole it is probably as important for a wa
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